W28 FARNT T 27 1 VLB AT
28138 (1

T™IU—TR

M) =T (2-2-12)

Q)

H>20Q)

DOHTO

BHR

EST

(=S

IIgf

L1 —TR

ARV

NORTE

s

NP vk

LIV

BoR

=
(==

eS|

(=S

IIgfz

»I)—=U

NORTE

Flop

RPIv

LIV

1 | 900 | Byod s
2 930 | Vo2 DOHTO
3 |1000| & HYH®
4 (1030 BT HY00@
5 [11:00| DOHTO pAniZS
6 [11:30| HvodD Ve
7 [ 1200 o DOHTO
8 (1230 bar 74 AVl
9 [1300| HvodD DOHTO
10 | 13:30 B Yz

FR1Y = (12-2-12)

1 1400 P7U—U NORTE
2 (1430 Ep RPIv
3 | 1500 LIV PTU—=L
4 [1530| NORTE E{]f[=a

5 |1600| XPDwv LIV

6 |1630| P7FU—-UL E]f[=a)
7 (1700 NORTE RPIv
8 (1730 LIV Fd
9 |1800| PTFU—U RPIv
10 | 1830 NORTE LIV




